
Blad1

Pagina 1

April 18,, 2020
WIO_CAN Revision: V2

Part

1    R1       120 Ohm
1    R2       
1    R3       
2    C1,C2    
3    C3,C4,C5  
2    C6,C7    
1
1    D1        DIODE 1N4003
1    VR1      R78E-5
1    IC1      
1    IC2      
1    IC3      
1    X1       CRYSTAL 16 MHz
1    DISP1    I2C DISP 1
1    J1       PSS 254-4W
1
2
2
4
2
2
1 WIO_CAN + Front
1 JP1
1

WIO Can interface Revised: 

Bill Of Materials

 Qty  Ref

4,7 Kohm
2,2 KOhm

ELCO 10 uF 16V rad.
100 nF

capacitor15 pF
C (railbox pcb) Elco 4.700 uF 35 V rad

MCP2515 with socket
MCP2561 with socket

Lolin D1 mini

PSK 254-4W with pins
support M2 x 12
support M2 x 15

nuts M2
Fasteners M2 x 8 flat head

Fasteners M2 x12
pcboard

2 pin headerr with jumper
fastener for VR1 M3  x 8 + 2 nuts M3


	Blad1

